




Class-VIII (Main)/03

[Time : 2.00 Hours] Full Marks  :  400

GOAL TALENT SEARCH EXAM : 24.12.2023

CLASS : VIII  - MAIN EXAM

01. On a hilly region, water boils at (20 × n)°C. The
temperature expressed in Fahrenheit is 176°F.
What is the value of n ?

(1) 4.5 (2) 4 (3) 4.75 (4) 4.25

02. The odometer of a car reads 66463 km when the
clock shows the time 9:45 AM. At 11:15 AM, the
odometer reading has changed to 66598 km.
Calculate the speed of the car in km/min during
this time.

(1) 1.5 km/min.

(2) 1.75 km/min.

(3) 0.95 km/min.

(4) 1.85 km/min.

03. In which circuit will the bulb or bulbs glow the
the brightest ?

(1) A simple circuit with two bulbs and two cells

(2) A simple circuit with one bulb and one cell.

(3) A simple circuit with two bulbs and three cells.

(4) A simple circuit with two bulbs and one cell.

04. The focal length of a convex mirror is 10 cm.
Find its radius of curvature.

(1) 5 cm (2) 10 cm (3) 40 cm (4) 20 cm

05. Figure shows a ray of light M striking a mirror
AB. The mirror AB and the mirror CD make an
angle of 135° with each other.

135°15°
A BC

D
M

What is the angle of incidence at CD ?

(1) 60° (2) 30° (3) 45° (4) 50°

06. A cube of side 2a, rests on the floor as shown in
the given figure. Given that the pressure exerted
by this cube on the floor is P, what is the pressure
exerted by another cube of the same material of
side 8a ? (Take g = 10 m/s2)

2a 8a

(1) 16 P (2) 4 P (3) 32 P (4) 8 P

01. i gkM+h {ks=k esa i kuh (20 × n)°C i j  mcyrk gSA ; fn i QkWjsugkbV
esa O; ÙkQ rki eku 176°F gSA rks n dk eku D; k gS\

(1) 4.5 (2) 4 (3) 4.75 (4) 4.25

02. , d dkj  dk vksMksehVj 66463 fdeh n' kkZrk gS t c ?kM+h l qcg
9:45 ct s dk l e;  fn• krh gSA l qcg 11:15 ct s] vksMksehVj
jhfMax 66598 fdeh esa cny xbZ gSA bl  nkSjku dkj  dh xfr
fdeh@feuV esa i fjdfyr djsaA
(1) 1.5 fdeh@feuVA
(2) 1.75 fdeh@feuVA
(3) 0.95 fdeh@feuVA
(4) 1.85 fdeh@feuVA

03. fdl  i fj i Fk esa cYc ; k cYc l cl s vf/ d pedsaxs\
(1) nks cYc vkSj nks l sy okyk , d l k/ kj .k i fj i Fk
(2) , d cYc vkSj , d l sy okyk , d l k/ kj .k i fj i FkA
(3) nks cYc vkSj rhu l sy okyk , d l k/ kj .k i fj i FkA
(4) nks cYc vkSj , d l sy okyk , d l k/ kj .k i fj i FkA

04. , d mÙky ni Z.k dh i Qksdl  nwjh 10 l seh gSA bl dh oØrk f=kT; k
Kkr dhft , A
(1) 5 l seh (2) 10 l seh (3) 40 l seh (4) 20 l seh

05. fp=k esa çdk' k dh , d fdj .k M, ni Z.k AB l s Vdjkrh gqbZ fn• kbZ
xbZ gSA ni Z.k AB vkSj ni Z.k CD ,d nwl js l s 135° dk dks.k cukrs
gSaA

135°15°
A BC

D
M

CD i j  vki ru dks.k D; k gS\
(1) 60° (2) 30° (3) 45° (4) 50°

06. 2a Hkqt k okyk , d ?ku i Q'kZ i j  fVdk gqvk gS t Sl k fd fn,  x,  fp=k
esa fn• k; k x; k gSA ; g ns• rs gq,  fd bl  ?ku }kjk i Q' kZ i j  yxk; k
x; k ncko P gS] 8a Hkqt k okys l eku i nkFkZ ds nwl js ?ku }kjk yxk; k
x; k ncko D; k gS\  (eku ysa g = 10 m/s2)

2a 8a

(1) 16 P (2) 4 P (3) 32 P (4) 8 P
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07. Two objects of same material, A and B are moving
on a rough surface as shown in figure below.
Object B has greater velocity than A, then :

20 kg

A

20 kg

B
Rough
surface

(1) A experiences more frictional force than B
(2) B experiences more frictional force than A
(3) Both experience same frictional force
(4) None of these

08. If the surfaces in contact tend to move or move
with respect to each other, the force of friction
comes into play
(1) only if one of the two objects is gaseous.
(2) only if the objects are solid.
(3) only if one of the two objects is liquid.
(4) irrespective of whether the objects are solid,

liquid or gaseous.
09. Loudness of sound has a unit of :

(1) del (dl) (2) decibel (dB)
(3) hertz (Hz) (4) amplitude (A)

10. Nitu’s father has set up an electroplating near
his village. He should dispose off the waste of
the factory
(1) in the nearby wasteland.
(2) in the nearby river.
(3) in the nearby pond.
(4) according to the disposal guidelines of the

local authority.
11. Which one of the following solutions/liquids will

not conduct electricity ?
(1) Distilled water
(2) Tap water
(3) Sodium chloride solution
(4) Copper sulphate solution

12. Major earthsquakes are less likely to occur in :
(1) Rann of Kutch
(2) Kashmir
(3) Orissa
(4) Western and Central Himalayas

13. The movement of the earth’s crust plates causes
(1) lightning (2) earthquakes
(3) thunderstorms (4) cyclones

14. Which one of the following statements is correct
regarding rods and cones in the human eye ?
(1) Cones are sensitive to bright light.
(2) Cones are sensitive to dim light.
(3) Rods can sense colour.
(4) Rods are sensitive to bright light.

07. , d gh l kexzh dh nks oLrq, ¡] A vkSj B] , d • qjnjh l rg i j  ?kwe
jgh gSa t Sl k fd uhps fn,  x,  fp=k esa fn• k; k x; k gSA oLrq B dk
osx A l s vf/ d gS] rks:

(1) A] B dh rqyuk esa vf/ d ?k"kZ.k cy dk vuqHko djsxk
(2) B] A dh rqyuk esa vf/ d ?k"kZ.k cy dk vuqHko djsxk
(3) nksuksa l eku ?k"kZ.k cy dk vuqHko djsaxsa
(4) buesa l s dksbZ ugha

08. ; fn l ai dZ esa vkus okyh l rgsa , d&nwl js ds l ki s{k xfr djrh gSa ; k
?kwerh gSa] rks ?k"kZ.k cy yxsxk
(1) dsoy rHkh t c nks oLrqvksa esa l s , d xSl h;  gksA
(2) dsoy rHkh t c oLrq, ¡ Bksl  gksaA
(3) dsoy rHkh t c nks oLrqvksa esa l s , d rjy gksA
(4) pkgs oLrq Bksl  gks] rjy gks ; k xSl h;  gksA

09. èofu dh rhozrk dh bdkbZ gksrh gS :
(1) Msy (dl) (2) Msl hcy (dB)
(3) gV~t Z (Hz) (4) vk; ke (A)

10. uhrw ds fi rk us v i us xkao ds i kl  , d bysDVªksIysfVax LFkkfi r dh
gSA ml s i QSDVªh ds dpjs dk fuLrkj .k djuk pkfg,
(1) i kl  dh cat j  Hkwfe esaA
(2) i kl  dh unh esaA
(3) i kl  ds rkykc esaA
(4) LFkkuh;  çkf/ dkjh ds fui Vku fn' kkfunZs' kksa ds vuql kjA

11. fuEufyf• r esa l s dkSu l k ?kksy@rjy i nkFkZ fct yh dk l apkyu ugha
djsxk\
(1) vkl qr t y
(2) uy dk i kuh
(3) l ksfM; e DyksjkbM ?kksy
(4) dkWi j  l Yi QsV ?kksy

12. cM+s Hkwdai  vkus dh l aHkkouk de gksrh gS:
(1) dPN dk j .k esa
(2) d' ehj  esa
(3) mM+hl k esa
(4) i f' peh , oa eè;  fgeky;  esa

13. Hkwi i ZVh ds IysVksa ds xfr dk dkj .k gS %
(1) fct yh (2) Hkwdai
(3) vk¡/ h rwi Qku (4) pØokr

14. ekuo vk¡•  esa NM+ vkSj ' kadq ds l aca/  esa fuEufyf• r esa l s dkSu
l k dFku l gh gS\
(1) ' kadq rst  jks' kuh ds çfr l aosnu' khy gksrs gSaA
(2) ' kadq ean çdk' k ds çfr l aosnu' khy gksrs gSaA
(3) NM+sa jax i gpku l drh gSaA
(4) NM+sa rst  jks' kuh ds çfr l aosnu' khy gksrh gSaA
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15. Light is falling on surface S1, S2, S3, S4 as shown
in fig. below.

Surface S1 Surface S2

Surface S3 Surface S4

Surfaces on which the angle of incidence is
equal to the angle of reflection is/are :

(1) S1 only

(2) S1 and S3 only

(3) S1, S2 and S3 only

(4) all the four surfaces

16. The angle between incident ray and reflected
ray is 30°. What is the value of angle of reflection?

(1) 60° (2) 10° (3) 15° (4) 12.5°

17. 3 hertz is equal to :

(1) 3 vibrations per minute

(2) 180 vibrations per minute

(3) 90 vibrations per minute

(4) 540 vibrations per minute

18. Kiran identified the nature of a few substances
with the help of three different indicators. She
listed down her observations in the given table
with some blanks.

S.
No.

Substance
Red

litmus
paper

Turmeric
solution

China
rose

indicator

1 Lime water blue       p     . green

2 Curd
no

change
no

change
      q     .

3 Table salt
no

change
no

change
no

change

4 Toothpaste     r     . red       s     .

5 Lemon juice
no

change
no

change
magenta

Identify p, q, r and s.

p q r s
(1) Magenta green Blue Red

(2) Red Magenta Blue Green

(3) Blue Magenta Red Yellow

(4) Red Yellow Magenta Blue

15. çdk' k] l rg S1, S2, S3, S4 i j  fxj  jgk gS t Sl k fd uhps fp=k
esa fn• k; k x; k gSA

os l rgsa ft u i j  vki ru dks.k i jkorZu dks.k ds cjkcj  gS@gSa:
(1) dsoy S1

(2) dsoy S1 vkSj S3

(3) dsoy S1, S2 vkSj S3

(4) l Hkh pkj  l rgsa
16. ; fn vki frr fdj.k vkSj i jkofrZr fdj .k ds chp dk dks.k 30° gSA

rks i jkorZu dks.k dk eku D; k gksxk\
(1) 60° (2) 10° (3) 15° (4) 12.5°

17. 3 gV~t Z cjkcj  gS:
(1) 3 dai u i zfr feuV
(2) 180 dai u çfr feuV
(3) 90 dai u i zfr feuV
(4) 540 dai u çfr feuV

18- fdj .k us rhu vyx&vyx l adsrdksa dh l gk; rk l s dqN i nkFkks± dh
çÑfr dh i gpku dhA ml us v i uh fVIi f.k; ksa dks dqN fjÙkQ LFkkuksa
ds l kFk nh xbZ rkfydk esa l wphc¼ fd; kA

Øe 
l aú

i nkFkZ
yky 

fyV~el  
i si j

gYnh dk 
?kksy

vM+gqy 
l wpd

1 pwuk t y uhyk       p     . gjk

2 ngh vi fjofrZr vi fjofrZr       q     .

3 Vscy ued vi fjofrZr vi fjofrZr vi fjofrZr
4 VwFki sLV     r     . yky       s     .

5 uhacw dk j l vi fjofrZr vi fjofrZr eSt saVk

p, q, r vkSj s dks i gpkusaA
p q r s

(1) eSt saVk gjk uhyk yky
(2) yky eSt saVk uhyk gjk
(3) uhyk eSt saVk yky i hyk
(4) yky i hyk eSt saVk uhyk
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19. Rahul used excessive chemical fertilisers in his
field while the soil in Shyam’s field was found to
be basic in nature. What should they add to their
fields to improve the quality of the soil ?
(1) Rahul : Organic matter

Shyma : Quick lime
(2) Rahul : Quick lime

Shyma : Organic matter
(3) Both should add quick lime
(4) Both should add organic matter.

20. Raghu took a turmeric paper and tried to draw
flowers on it with the help of cotton buds dipped
in solutions X and Y. The flower drawn with
solution X was not visible while one drawn with
solution Y turned red.
Solutions X and Y could be respectively.
(1) Lime water and lemon juice
(2) Vinegar and soap solution
(3) Common salt solution and baking soda
(4) Both (2) and (3)

21. Rekha took few wire pieces made up of different
metals and placed them in blue solution of
copper sulphate. What will be the colour of the
solutions present in beakers I, II and III after
half an hour.

Gold Silver Iron
I II III
I II II

(1) Blue Blue Green
(2) Blue Green Green
(3) Green Blue Blue
(4) Blue Blue Blue

22. Kunal has classified a few process as shown in
the given table :
S.
No.

Processes
Type of
change

1
Sublimation of naphthalene 
balls

Physical

2
Heating of sodium with 
chlorine gas

Chemical

3
Mixing sodium hydroxide with 
copper sulphate solution

Physical

4 Expansion of bimetallic strip Physical

The processes which are classified correctly are
(1) II, III and IV only
(2) II and IV only
(3) I, II and IV only
(4) I, II, III and IV

19- jkgqy us v i us • sr esa vR; f/ d jkl k; fud moZjdksa dk ç; ksx fd; k
t cfd ' ; ke ds • sr dh feêðh {kkjh;  çÑfr dh i kbZ xbZA feêðh dh
xq.koÙkk l q/ kjus ds fy,  mUgsa vi us • srksa esa D; k feykuk pkfg, \
(1) jkgqy % dkcZfud i nkFkZ

' ; kek % fcuk cq>k; k gqvk pwuk
(2) jkgqy % fcuk cq>k; k gqvk pwuk

' ; kek % dkcZfud i nkFkZ
(3) nksuksa dks fcuk cq>k gqvk pwuk Mkyuk pkfg,
(4) nksuksa dks dkcZfud i nkFkZ feykuk pkfg, A

20- j?kq us , d gYnh dkxt  fy; k vkSj ml  i j  X vkSj Y ds ?kksy esa
Mwch #bZ dh enn l s i Qwy cukus dh dksf' k' k dhA ?kksy X l s • hapk
x; k i Qwy fn• kbZ ugha ns jgk Fkk] t cfd ?kksy Y l s cuk; k x; k i Qwy
yky gks x; kA
?kksy Øe' k% X vkSj Y gks l drs gSaA
(1) uhacw i kuh vkSj uhacw dk j l
(2) fl jdk vkSj l kcqu dk ?kksy
(3) l k/ kj .k ued dk ?kksy vkSj csfdax l ksMk
(4) nksuksa (2) vkSj (3)

21- js• k us fofHkUu / krqvksa l s cus dqN rkj  ds VqdM+s fy,  vkSj mUgsa
dkWi j  l Yi QsV ds uhys ?kksy esa j • kA vk/ s ?kaVs ds ckn chdj
I] II vkSj III esa ekSt wn ?kksy dk jax D; k gksxk\

I II II

(1) uhyk uhyk gjk
(2) uhyk gjk gjk
(3) gjk uhyk uhyk
(4) uhyk uhyk uhyk

22- dq.kky us dqN çfØ; kvksa dks oxhZÑr fd; k gS t Sl k fd nh xbZ
rkfydk esa fn• k; k x; k gS%

Øe
l a-

çfØ; k, ¡ i fjorZu ds
i zdkj

1 uSIFkkfyu xsanksa dk mQèoZi kru HkkSfrd

2
l ksfM; e dks Dyksjhu xSl  ds l kFk xeZ 
djuk

jkl k; fud

3
dkWi j l Yi QsV dss ?kksy esa l ksfM; e 
gkbMªkDl kbM feykuk

HkkSfrd

4 f}/ kfRod i V~Vh dk foLrkj HkkSfrd

ft u çfØ; kvksa dks l gh <ax l s oxhZÑr fd; k x; k gS os gSa
(1) dsoy II, III vkSj IV (2) dsoy II vkSj IV
(3) dsoy I, II vkSj IV (4) I, II, III vkSj IV
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23. Which of the following changes is wrongly
identified ?
(1) Eating of dosa in breakfast

–Chemical change
(2) Cutting of wood to make furniture

–Physical Change
(3) Making fruit custard from milk

–Chemical change
(4) None of the above

24. A chemical reaction in which magnesium ribbon
burns can be represented as
(1) Magnesium + Oxygen 

Magnesium oxide
(2) Magnesium + Oxygen 

Magnesium hydride
(3) Magnesium + Water 

Magnesium hydroxide
(4) Magnesium + Oxygen + Water 

Magnesium hydroxide
25. Which of the following represents the correct

decreasing order of boiling points of the given
fractions ?
(1) Heavy oil > Kerosene > Gasoline > Petroleum

gas
(2) Petrol > Kerosene > Diesel oil > Lubricating

oil
(3) Kerosene > Diesel oil > Lubricating oil > Petrol
(4) Petrol > Diesel oil > Lubricating oil > Kerosene

26. Match column-I with column-II and select the
correct option from the given codes.

Column-I Column-II
P. Rusting (i) Explosion
Q. Burning of (ii) Spontaneous

LPG combustion
R. Sodium (iii) Rapid combustion
S. Burning of (iv)Slow combustion

fire crackers
(1) P-(ii), Q-(iii), R-(i), S-(iv)
(2) P-(iv), Q-(ii), R-(i), S-(iii)
(3) P-(iii), Q-(iv), R-(i), S-(ii)
(4) P-(iv), Q-(iii), R-(ii), S-(i)

27. The process in which the wood of the forests was
converted into coal under high temperature and
pressure over millions of years is called
_________.
(1) Destructive distillation
(2) Carbonisation
(3) Pyrolysis
(4) Fermentation

23- fuEufyf• r esa l s xyr i fjorZu dk p; u djsa &

(1) uk' rs esa Mksl k • kuk &j l k; fud i fjorZu

(2) i QuhZpj cukus ds fy,  ydM+h dkVuk &HkkSfrd i fjorZu

(3) nw/  l s ÚwV dLVMZ cukuk &j l k; fud i fjorZu

(4) mi jksÙkQ esa l s dksbZ ugha

24- , d jkl k; fud çfrfØ; k ft l esa eSXuhf' k; e fjcu t yrk gS] dks
fdl  çdkj  n' kkZ; k t k l drk gS\

(1) eSXuhf' k; e $ vkWDl ht u  eSXuhf' k; e vkWDl kbM

(2) eSXuhf' k; e $ vkWDl ht u  eSXuhf' k; e gkbMªkbM

(3) eSXuhf' k; e $ t y  eSXusf' k; e gk; MªkWDl kbM

(4) eSXuhf' k; e $ vkWDl ht u $ i kuh  eSXusf' k; e gk; MªkWDl kbM

25- fuEufyf• r esa l s dkSu l k fn,  x,  va' kksa ds DoFkukad ds l gh ?kVrs
Øe dks n' kkZrk gS\

(1) Hkkjh rsy > feêðh dk rsy > xSl ksyhu > i sVªksfy; e xSl

(2) i sVªksy > feêðh dk rsy > Mht y rsy > fpdukbZ okyk rsy

(3) feêðh dk rsy > Mht y rsy > fpdukbZ okyk rsy > i sVªksy
(4) i sVªksy > Mht y rsy > fpdukbZ okyk rsy > feêðh dk rsy

26- LraHk-I dks LraHk-II l s feyk, a vkSj fn,  x,  fodYi ksa esa l s l gh
fodYi  dk p; u djsaA

LraHk-I LraHk-II
P. t ax yxuk (i) foLi QksV
Q. LPG dk t yuk (ii) Lor% t yuk@ngu
R. l ksfM; e (iii) rhoz ngu
S. i Vk[ ks dk t yuk (iv)/ heh xfr l s ngu
(1) P-(ii), Q-(iii), R-(i), S-(iv)
(2) P-(iv), Q-(ii), R-(i), S-(iii)
(3) P-(iii), Q-(iv), R-(i), S-(ii)

(4) P-(iv), Q-(iii), R-(ii), S-(i)

27- yk• ksa o"kks± rd mPp rki eku vkSj ncko esa t axyksa dh ydM+h dks
dks; ys esa cnyus dh çfØ; k dks ________ dgk t krk gSA
(1) fouk' kdkjh vkl ou
(2) dkcZuhdj.k
(3) i k; jksfyfl l
(4) fd.ou
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28. I am a fuel used for vehicles and also at home.
I am also used as a starting material for the
manufacture of a number of chemicals and
fertilizers. I can be easily transported through
pipes, I am ________.
(1) Liquefied petroleum gas
(2) Natural gas
(3) Coal gas
(4) Helium gas

29. The inflammable substances are
(i) Hydrogen (ii) Phosphorus
(iii) Water (iv)Coke
(1) Only (i) (2) (i) and (ii)
(3) (i), (iii) and (iv) (4) (i) and (iv)

30. Why a matchstick does not catch fire on its own
at room temperature, even though it is a
combustible substance ?
(1) Its ignition temperature is quite low
(2) A combustible substance cannot catch fire

below its ignition temperature.
(3) Both (1) and (2)
(4) None of the above.

31. Choose the incorrect statement from the
following.
A good fuel is one which :
(1) is readily available.
(2) produces a small amount of heat.
(3) do not leaves any substances.
(4) burns easily in air at a moderate rate.

32. Magnesium ribbon on burning in air produces.
(1) magnesium oxide and light
(2) magnesium oxide and water
(3) magnesium oxide, heat and light
(4) magnesium oxide, water and heat

33. Fossil fuels are obtained from :
(1) remains of non-living materials.
(2) dead remains of animal only
(3) dead remains plant only
(4) dead remains of living organisms.

34. Choose the incorrect statement from the
following :
(1) It is difficult to transport natural gas through

pipes.
(2) The disadvantage of natural gas is that it can

not be used
(3) Natural gas is stored under low pressure as

compressed natural gas.
(4) All of the above

28- eSa xkfM+; ksa ds l kFk&l kFk ?kj esa Hkh bLrseky gksus okyk b±/ u g¡wA esjk
mi ; ksx dbZ j l k; uksa vkSj moZjdksa ds fuekZ.k ds fy,  ' kq#vkrh l kexzh
ds : i  esa Hkh fd; k t krk gSA eq>s i kbi ksa ds ekè; e l s vkl kuh l s
ys t k; k t k l drk gS] eSa ________ gw¡A
(1) æohÑr i sVªksfy; e xSl
(2) çkÑfrd xSl
(3) dks; yk xSl
(4) ghfy; e xSl

29- Toyu' khy i nkFkZ gSa
(i) gkbMªkst u (ii) i QkLi Qksj l
(iii) i kuh (iv) dksd
(1) dsoy (i) (2) (i) vkSj  (ii)
(3) (i), (iii) vkSj  (iv) (4) (i) vkSj  (iv)

30- ekfpl  dh rhyh , d Toyu' khy i nkFkZ gksus i j  Hkh dejs ds rki eku
i j  v i us vki  vkx D; ksa ugha i dM+rh\
(1) bl dk Toyu rki eku dki Qh de gS
(2) dksbZ Toyu' khy i nkFkZ vi us Toyu rki eku l s uhps vkx ugha

i dM+ l drkA
(3) nksuksa (1) vkSj (2)
(4) mi jksÙkQ esa l s dksbZ ughaA

31- fuEufyf• r esa l s xyr dFku dk p; u djsaA
, d vPNk b±/ u og gS t ks%
(1) vkl kuh l s mi yC/  gksrk gSA
(2) FkksM+h ek=kk esa Å"ek mRi Uu djrk gSA
(3) dksbZ Hkh i nkFkZ ugha NksM+rk gSA
(4) eè; e xfr l s gok esa vkl kuh l s t yrk gSA

32- gok esa t ykus i j  eSXuhf' k; e fjcu mRi Uu gksrk gS %
(1) eSXuhf' k; e vkWDl kbM vkSj çdk' k dks
(2) eSXuhf' k; e vkWDl kbM vkSj i kuh dks
(3) eSXuhf' k; e vkWDl kbM] Å"ek vkSj çdk' k dks
(4) eSXuhf' k; e vkWDl kbM] i kuh vkSj m"ek dks

33- t hok' e b±/ u çkIr gksrk gS %
(1) fut hZo i nkFkks± ds vo' ks"k l s
(2) dsoy i ' kq ds er̀ vo' ks"k l s
(3) dsoy er̀ i kS/ ks ds vo' ks"k l s
(4) t hfor t hoksa ds er̀ vo' ks"k l s

34- fuEufyf• r esa l s xyr dFku pqusa%
(1) i kbi ksa ds ekè; e l s çkÑfrd xSl  dk i fjogu djuk dfBu gSA
(2) çkÑfrd xSl  dk uqdl ku ; g gS fd bl dk mi ; ksx ugha fd; k

t k l drk gSA
(3) çkÑfrd xSl  dks de ncko esa l ai hfM+r çkÑfrd xSl  ds : i

esa l axzfgr fd; k t krk gSA
(4) mi jksÙkQ l Hkh
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35. I. Levelling the field is beneficial for sowing as
well as for irrigation.

II. Plough is being used since ancient times for
tilling the soil, removing the weeds and
turning the soil.

III.Manure is an inorganic substance obtained
from the decomposition of plant or animal
wastes.

Which of the above statements are incorrect?
(1) I and II (2) II and III (3) Only II (4) Only III

36. Choose the odd one out with respect to irrigation
method :
(1) Pulley-system (2) Sprinkler system
(3) Lever system (4) Dhekli

37. ‘Nabanya’ celebrated as
(1) Harvest festival (2) Light festival
(3) Soil festival (4) None of these

38. How many pairs are correct ?
I. Bacterial disease – Typhoid  and

Tuberculosis
II. Protozoal disease – Malaria and Amoebic

dysentery
III. Fungal disease – Influenza and Rust of

wheat
IV. virus disease – Polio and Chicken Pox
(1) Only one pair (2) Only two pairs
(3) Only three pairs (4) All of the above

39. Fish and meat are often preserved by which
method ?
(1) Use of oil and vinegar
(2) Use of common salt
(3) Both (1) and (2)
(4) Use of Sugar

40. Carrier of malaria-causing protozoan is :
(1) Housefly
(2) Male Anopheles  mosquito
(3) Female Anopheles mosquito
(4) Both ‘2’ and ‘3’

41. Match the Columns :
Column I Column II

(a) Yeast (i) Setting of curd
(b) Rhizobium (ii) Fixing nitrogen
(c) Lactobacillus (iii) Production of alcohol
(d) Virus (iv) Baking of bread

(v) Causing AIDS
(1) (a-ii), (b-iii), (c-iv), (d-v)

(2) (a-i), (b-ii), (c-iv), (d-iii)
(3) (a-iii,iv), (b-ii), (c-i), (d-v)

(4) (a-i,ii), (b-v), (c-i), (d-iii)

35. I. • sr dks l ery djuk cqvkbZ ds l kFk&l kFk fl apkbZ ds fy,  Hkh
i Qk; nsean gksrk gSA

II. gy dk mi ; ksx çkphu dky l s gh feêðh t ksrus] • j i rokj gVkus
rFkk feêðh i yVus ds fy,  fd; k t krk jgk gSA

III. • kn , d vdkcZfud i nkFkZ gS t ks i kS/ ksa ; k t kuojksa ds vi f' k"Vksa
ds vi ?kVu l s çkIr gksrk gSA

mi jksDr esa l s dkSu&l k dFku xyr gS\
(1) I rFkk II (2) II rFkk III (3) dsoy II (4) dsoy III

36. fl apkbZ fof/  ds l aca/  esa cst ksM+ fodYi  pqusa%
(1) i qyh&ç.kkyh (2) fLçadyj  ç.kkyh
(3) yhoj ç.kkyh (4) <sdyh

37. ûcU; k* bl  : i  esa euk; k t krk gS &
(1) dVkbZ i oZ (2) i zdk' k i oZ
(3) eǹk i oZ (4) buesa l s dksbZ ugha

38. fdrus t ksM+s l gh gSa\
I. t hok.kq jksx & Vkbi QkbM vkSj ri sfnd

II. çksVkst ksvy jksx & eysfj ; k vkSj vehchd i sfp' k

III. i Qaxy jksx & bUÝyw, at k vkSj xsgwa dk jLV

IV. ok; j l  jksx & i ksfy; ks vkSj fpdu i kWDl

(1) dsoy , d ; qXe (2) dsoy nks ; qXe

(3) dsoy rhu ; qXe (4) mi jksÙkQ l Hkh

39. eNyh , oa ekal  dks çk; % fdl  fof/  }kjk i fj j f{kr fd; k t krk gS\
(1) rsy vkSj fl jds dk ç; ksx dj  ds
(2) l k/ kj .k ued dk ç; ksx dj  ds
(3) (1) vkSj (2) nksuksa
(4) phuh dk ç; ksx dj  ds

40. eysfj ; k mRi Uu djus okys çksVkst ksvk dk okgd gS %

(1) ?kjsyw eD• h (2) uj , uksfi Qyht  ePNj

(3) eknk , ukfi Qyht  ePNj (4) ‘2’ vkSj ‘3’ nksuksa

41. LraHkksa dk feyku djsa%

LraHk&I LraHk&II
(a) • ehj (i) ngh t ekuk
(b) jkbt ksfc; e (ii) ukbVªkst u fLFkjhdj .k
(c) ySDVkscSfl yl (iii) ' kjkc dk mRi knu
(d) ok; jl (iv) jksVh i dkuk

(v) , M~l  dk dkj .k cuuk
(1) (a-ii), (b-iii), (c-iv), (d-v)
(2) (a-i), (b-ii), (c-iv), (d-iii)
(3) (a-iii,iv), (b-ii), (c-i), (d-v)
(4) (a-i,ii), (b-v), (c-i), (d-iii)
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42. ______ is a group of population which are capable
of interbreeding.
(1) Species (2) Genus
(3) Family (4) Both (1) and (2)

43. I. Red Data Book is the source book which keeps
a record of all the endangered animals and
plants and it is maintained internationally
by an organisation.

II. One of the most important factors that
threatens wildlife today is habitat destruction
due to encroachment.

Choose the correct option :
(1) Both I and II statements are correct.
(2) Both I and II statements are incorrect.
(3) Statement I is correct but II is incorrect.
(4) Statement I is incorrect but II is correct.

44. Identify the given figure and choose the correct
option :

A

B

C

(1) A –They produce female gamete called ova.
(2) B –This is the part where development of the

baby takes place.
(3) C –They collect an ovum from the ovaries and

transfer it to the uterus.
(4) More than one option is correct.

45. Choose the correct combination of iron-rich food:
(1) Chips, Vegetables and Paneer.
(2) Meat, Paneer and Lemon drink.
(3) Chapati, rice and Indian Gooseberry.
(4) Leafy vegetables, Jaggery and Amla.

46. Yeast grow on natural sugars present in which
of the following grains ?
I. Barley II. Rice
III.Wheat IV. Crushed fruit juice
V. Moong VI. Gram
(1) I, II and III (2) II, III, V and VI
(3) I, III, IV and VI (4) I, II, III and IV

42. ______ t ul a[ ; k dk , d l ewg gS t ks i jLi j  çt uu esa l {ke gSA
(1) t kfr (2) oa' k
(3) dqy (4) (1) vkSj (2) nksuksa

43. I. jsM MsVk cqd og l zksr i qLrd gS t ks l Hkh yqIrçk;  t kuojksa vkSj
i kS/ ksa dk fjdkWMZ j • rh gS vkSj bl s varj jk"Vªh;  Lrj  i j  , d
l axBu }kjk cuk,  j • k t krk gSA

II. vkt  oU; t hoksa ds fy,  • rjk i Snk djus okys l cl s egRoi w.kZ
dkjdksa esa l s , d vfrØe.k ds dkj .k fuokl  LFkku dk fouk' k
gSA

l gh fodYi  pqusa %
(1) I vkSj II nksuksa dFku l gh gSaA
(2) I vkSj II nksuksa dFku xyr gSaA
(3) dFku I l gh gS ysfdu II xyr gSA
(4) dFku I xyr gS ysfdu II l gh gSA

44. fn,  x,  fp=k dks i gpkusa vkSj l gh fodYi  pqusa%

A

B

C

(1) A & os eknk ; qXed i Snk djrs gSa ft Ugsa vksok dgk t krk gSA
(2) B & og Hkkx gS t gk¡ f' k' kq dk fodkl  gksrk gSA
(3) C & os vaMk' k;  l s ,d vaMk.kq ,d=k djrs gSa vkSj ml s xHkkZ'k;

esa LFkkukarfj r djrs gSaA
(4) , d l s vf/ d fodYi  l gh gSaA

45. vk; ju ; qÙkQ Hkkst u dk l gh l a; kst u pqusa%
(1) fpIl ] l fCt ; k¡ vkSj i uhjA
(2) ekal ] i uhj  vkSj uhacw i s; A
(3) pi krh] pkoy vkSj vkaoykA
(4) i Ùksnkj  l fCt ; k¡] xqM+ vkSj vkaoykA

46. fuEufyf• r esa l s fdl  vukt  esa ekSt wn çkÑfrd ' kdZjk i j  • ehj
mxrk gS\
I. t kS II. pkoy
III.xsgw¡ IV. dqpys gq,  i Qyksa dk j l
V. ewax VI. puk
(1) I, II vkSj  III (2) II, III, V vkSj  VI

(3) I, III, IV vkSj  VI (4) I, II, III vkSj  IV
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47. Identify the given figure.

(1) Viruses (2) Bacteria

(3) Protozoa (4) Fungi

48. Animal excreta, cow dung, urine and plant waste
are used as :

(1) Chemical fertilisers

(2) Organic fertilisers

(3) Inorganic fertilisers

(4) All of the above

49. Pathogenic micro-organisms present in host
cells are killed by medicines called :

(1) Vaccines (2) Pain killers

(3) Antibodies (4) Antibiotic

50. What do black buck, elephant, python and golden
cat together represent in a forest ?

(1) Fauna (2) Ecosystem

(3) Species (4) Flora

51. Find the value of the given expression

(–45) – (–39) + 42 – 28 – (–152) – 85 + (–9).

(1) –78 (2) –32 (3) –550 (4) 66

52. In the given figure, PQ, RS and UT are parallel
lines. If c = 75° and a = (2/5)c, find b + d/2.

P b
d

a R

Q

S

c TU

(1) 92° (2) 115° (3) 112.5° (4) 135.5°

53. Which of the following options is arranged in
descending order ?

(1)
1 6 16 25, , ,
4 4 9 4 (2)

3 4 9 13, , ,
6 3 4 4
   

(3)
5 3 0 1, , ,
8 8 8 8
 

(4)
7 3 5 8, , ,
4 4 4 3
 

47. fn,  x,  fp=k dks i gpkusaA

(1) ok; jl (2) cSDVhfj; k
(3) çksVkst ksvk (4) dod

48. i ' kqvksa ds ey] xkscj ] ew=k vkSj i kS/ ksa ds v i f' k"V dk mi ; ksx fd; k
t krk gS%
(1) jkl k; fud • kn esa
(2) t Sfod • kn esa
(3) vdkcZfud moZjd esa
(4) mi jksÙkQ l Hkh

49. est cku dksf' kdkvksa esa ekSt wn jksxt ud l w{et ho t ks nokvksa }kjk
ekjs t krs gSa] dgykrs gSa%
(1) Vhds (2) nnZ fuokjd
(3) , aVh ckWMht (4) , aVhck; ksfVd

50. , d t axy esa dkyk fgj .k] gkFkh] vt xj  vkSj l qugjh fcYyh
feydj  D; k n' kkZrs gSa\
(1) t ho&t arq (2) i kfj fLFkfrdh ra=k
(3) çt kfr; k¡ (4) ouLi fr

51. fn,  x,  O; at d dk eku Kkr dhft ,
(–45) – (–39) + 42 – 28 – (–152) – 85 + (–9)

(1) –78 (2) –32 (3) –550 (4) 66

52. nh xbZ vkÑfr esa] PQ, RS vkSj UT l ekukarj  js• k, ¡ gSaA ; fn
c ¾ 75° vkSj a = (2/5)c rks b + d/2. Kkr djsaA

P b
d

a R

Q

S

c TU

(1) 92° (2) 115° (3) 112.5° (4) 135.5°

53. fuEufyf• r esa l s dkSu&l k fodYi  vojksgh Øe esa O; ofLFkr gS\

(1)
1 6 16 25, , ,
4 4 9 4 (2)

3 4 9 13, , ,
6 3 4 4
   

(3)
5 3 0 1, , ,
8 8 8 8
 

(4)
7 3 5 8, , ,
4 4 4 3
 
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54. Fill in the blanks.

(i) The number P  is neither positive nor
negative rational number.

(ii) There are Q  rational numbers between
two rational numbers.

(iii) A rational number is defined as a number

which can be expressed in the form of 
p
q ,

where p and q are R  and q is not equal to
S .

P Q R S
(1) 1 limited whole numbers 0
(2) 0 limited integers 1
(3) 1 unlimited whole numbers 0
(4) 0 unlimited integers 0

55. If 
x 3
y 4
 , then the value of 

6 y x
7 y x

 
  

 equals

_____ .

(1)
5
7

(2)
1

1
7

(3) 1 (4) 2

56. Mr Sharma deposited j  256000 in his account.

Two days later, he withdraw 
2
5  of the amount

and 
3
4

 of the remaining amount of the next day.
Find the amount left in his account.

(1) j  24520 (2) j  38400 (3) j  14820(4) j  14680
57. The sum of two numbers is 81. If one number is

th4
5

 
 
 

 of the other, then the numbers are ____ .

(1) 54, 27 (2) 45, 36 (3) 42, 39 (4) 58, 23
58. Match the following.

Column I Column II
(p) Diagonals of a (i) Bisect each other

rectangle at right angles
(q) Diagonals of a square (ii) Bisect each other
(r) Diagonals of a rhombus(iii)Equal and bisect

each other
(s) Diagonals of a (iv) Equal and bisect

parallelogram each other at
right angles

(1) (p-i), (q-ii), (r-iii), (s-iv)
(2) (p-iii), (q-iv), (r-i), (s-ii)
(3) (p-iv), (q-ii), (r-iii), (s-i)
(4) (p-iv), (q-iii), (r-ii), (s-i)

54. fjÙkQ LFkku Hkjsa.

(i) l a[ ; k P u rks / ukRed vkSj u gh ½.kkRed i fjes;  l a[ ; k
gSA

(ii) nks i fjes;  l a[ ; kvksa ds chp i fjes;  l a[ ; kvksa dh l a[ ; k Q

gksrh gSA
(iii) , d i fjes;  l a[ ; k dks , d , sl h l a[ ; k ds : i  esa i fjHkkf"kr

fd; k t krk gS ft l s 
p
q ] ds : i  esa O; ÙkQ fd; k t k l drk gS]

t gk¡ p vkSj q R  rFkk q, S  ds cjkcj  ugha gSA
P Q R S

(1) 1 l hfer i w.kZ l a[ ; k 0

(2) 0 l hfer i w.kkZad 1

(3) 1 vl hfer i w.kZ l a[ ; k 0

(4) 0 vl hfer i w.kkZad 0

55. ; fn 
x 3
y 4
 ] rks 

6 y x
7 y x

 
  

dk eku _____  ds cjkcj  gSA

(1)
5
7

(2)
1

1
7

(3) 1 (4) 2

56. Jh ' kekZ us v i us • krs esa 256000 #i ; s t ek fd; sA nks fnu ckn

og jkf' k dk 
2
5  vkSj vxys fnu ' ks"k jkf' k dk 3

4
 fudky ysrk gSA

ml ds • krs esa ' ks"k jkf' k Kkr dhft , A

(1) j  24520 (2) j  38400 (3) j  14820(4) j  14680

57. nks l a[ ; kvksa dk ; ksx 81 gSA ; fn , d l a[ ; k] nwl js dk 
th4

5
 
 
 

gS]
rks l a[ ; k, ¡ _________ gSaA

(1) 54, 27 (2) 45, 36 (3) 42, 39 (4) 58, 23

58. fuEufyf• r dk feyku djsaA
LraHk-I LraHk-II

(p) vk; r dk fod.kZ (i) , d nwl js dks l edks.k
i j  l ef}Hkkft r djrk gSA

(q) oxZ dk fod.kZ (ii)  ,d nwl js dks l ef}Hkkft r
djrk gSA

(r) l eprqqHkqZt  dk fod.kZ (iii) cjkcj  vkSj l ef}Hkkft r
djrk gSA

(s) l ekarj  prqHkqZt  dk fod.kZ(iv) cjkcj  vkSj l edks.k i j
l ef}Hkkx djrk gSA

(1) (p-i), (q-ii), (r-iii), (s-iv)
(2) (p-iii), (q-iv), (r-i), (s-ii)
(3) (p-iv), (q-ii), (r-iii), (s-i)
(4) (p-iv), (q-iii), (r-ii), (s-i)



Class-VIII (Main)/013

59. If ABDC, AB = 7 cm, BC = 6 cm, AD = 6.5 cm and
B = 70°, then which figure can be constructed?
(1) Square (2) Trapezium
(3) Rhombus (4) Rectangle

60. The given pie chart shows the spending of a
family on various heads during a month. Study
the graph and answer the following question.

11%
Clothing

14
%

 R
en

t

9% Fuel
15%

Education

6%
 O

th
er

s

45% Food

If the total income of the family is j  25000, then
the amount spent on food and rent together is
______ .

(1) j  17250 (2) j  14750 (3) j  11250(4) j  8500
61. In a survey of 500 students, it was found that

380 like cricket while rest dislike it. From these
students, one is chosen at random. The
probability that the chosen student dislike
cricket is _________ .

(1)
19
25 (2)

6
25 (3)

3
25 (4)

3
35

62. If the three numbers are in the ratio 3 : 4 : 7, so
that the sum of their squares is 1184. Find the
numbers respectively.
(1) 12, 16, 28 (2) 28, 12, 16
(3) 28, 16, 12 (4) 16, 12, 28

63. In the five digit number 1b6a3, a is the greatest
single digit perfect cube and twice of it exceeds
b by 7. Then find the number which is cube of
sum of its digits is.
(1) 18700 (2) 11862 (3) 19683 (4) 25320

64. Naman buys a bike at 20% discount of its value
and sells it for 20% more than its value. What
will be his profit percentage ?

(1) 40% (2) 50% (3)
266 %
3 (4) 20%

65. Sam invested j  15000 at 10% per annum for one
year. If the interest is compounded half-yearly,
then the amount received by Sam at the end of
the year will be :

(1) j  16500 (2) j  16525.50

(3) j  16537.50 (4) j  18150

59. ; fn AB||DC, AB = 7 l seh] BC = 6 l seh] AD = 6.5 l seh
vkSj B = 70° gS] rks dkSu l h vkÑfr cukbZ t k l drh gS\
(1) oxZ (2) l eyEc prqHkZqt
(3) l eprqHkZqt (4) vk; r

60. fn; k x; k i kbZ pkVZ , d eghus ds nkSjku fofHkUu enksa i j  ,d i fjokj
ds • pZ dks n' kkZrk gSA xzki Q dk vè; ; u djsa vkSj fuEufyf• r ç' u
dk mÙkj nsaA

; fn i fjokj  dh dqy vk;  25000 #i ; s gS] rks Hkkst u vkSj fdjk; s
i j  • pZ dh xbZ jkf' k ______ gSA
(1) j  17250 (2) j  14750 (3) j  11250(4) j  8500

61. 500 Nk=kksa ds l oZs{k.k esa ; g i k; k x; k fd 380 dks fØdsV i l an
gS t cfd ckdh dks uki l an gSA bu Nk=kksa esa l s , d dks ; kǹfPNd
: i  l s pquk t krk gSA pqus x,  Nk=k dks fØdsV i l an ugha gksus dh
i zkf; drk _________ gSA

(1)
19
25 (2)

6
25 (3)

3
25 (4)

3
35

62. ; fn rhuksa l a[ ; kvksa dk vuqi kr 3 % 4 % 7 gS] rFkk muds oxks± dk
; ksx 1184 gSA Øe' k% l a[ ; k, ¡ Kkr dhft , A
(1) 12, 16, 28 (2) 28, 12, 16

(3) 28, 16, 12 (4) 16, 12, 28

63. i kap vadksa dh l a[ ; k 1b6a3, esa a l cl s cM+k , d vad dk i w.kZ
?ku gS vkSj bl dk nksxquk b l s 7 vf/ d gSA rks l a[ ; k Kkr djsa t ks
bl ds vadksa ds ; kx dk ?ku gSA
(1) 18700 (2) 11862 (3) 19683 (4) 25320

64. ueu , d ckbd ml ds ewY;  l s 20%  NwV i j  • jhnrk gS vkSj ml s
ml ds ewY;  l s 20%  vf/ d i j  csprk gSA ml dk ykHk çfr' kr D; k
gksxk\

(1) 40% (2) 50% (3)
266 %
3 (4) 20%

65. l Se us , d o"kZ ds fy,  10%  çfr o"kZ dh nj  l s 15000 #i ; s
dk fuos' k fd; kA ; fn C; kt  v/ Z–okf"kZd : i  l s l a; ksft r fd; k t krk
gS] rks o"kZ ds var esa l Se dks çkIr jkf' k gksxh%
(1) j  16500 (2) j  16525.50

(3) j  16537.50 (4) j  18150
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66. Amit wants to buy a rectangular field whose
perimeter is (4a2 + 6ab + 2b2) units. If its length
is (a + b)2 units, then find its breadth.

(1) (a2 – ab) units (2) (b2 – ab) units

(3) (b2 + ab) units (4) (a2 + ab) units

67. Simplify : 
12 5

2
14x y 8x z

2x
 

(1) x3(–7x7y + 4z) (2) x2(7x7y – 4z)

(3) x2(–7x6y + 2z) (4) x3(7x7y + 4z)

68. A hoop is resting vertically at staircase as shown
in the diagram. AB = 12 cm and BC = 8 cm. The
radius of the hoop is :

C

A B

(1) 13 cm (2) 12 2cm

(3) 14 cm (4) 13 2cm

69. The area of a quadrilateral is 342 sq. m. The
perpendiculars from two of its opposite vertices
to the diagonal are 12 m and 12 m. What is the
length of the diagonal ?

(1) 31.3 m (2) 25.3 m (3) 28.5 m (4) 22.5 m

70. Find the value of 
4 4 6

7 9
(3 ) 9
(27) 3




 ?

(1) 3 (2)
1
9 (3) 27 (4) 1

71. Express the product of 1.2 × 105 and 2.4 × 10–2

in the standard form.

(1) 288 × 102 (2) 0.288 × 105

(3) 2.88 × 103 (4) 28.8 × 104

72. A labourer is paid j  806 for 13 days of work. If he
receives j  1798, then for how many days did he
work ?

(1) 29 (2) 35 (3) 60 (4) 40

73. One of the factors of (p + q)2 – (a – b)2 + p + q – a + b
is :

(1) (p + q + a + b)

(2) (p + q – a + b)

(3) (p – q + a – b)

(4) (p – q + a + b)

66. vfer , d vk; rkdkj  eSnku • jhnuk pkgrk gS ft l dk i fjeki
(4a2 + 6ab + 2b2) bdkbZ gSA ; fn bl dh yackbZ (a + b)2 bdkbZ
gS] rks bl dh pkSM+kbZ Kkr djsaA
(1) (a2 – ab) bdkbZ (2) (b2 – ab) bdkbZ
(3) (b2 + ab) bdkbZ (4) (a2 + ab) bdkbZ

67. l jy dhft ,  % 
12 5

2
14x y 8x z

2x
 

(1) x3(–7x7y + 4z) (2) x2(7x7y – 4z)
(3) x2(–7x6y + 2z) (4) x3(7x7y + 4z)

68. t Sl k fd fp=k esa fn• k; k x; k gS] , d ?ksjk l h<+h i j  yacor fVdk
gqvk gSA AB = 12 l seh vkSj BC = 8 l sehA ?ksjk dh f=kT; k gS%

C

A B

(1) 13 l seh (2) 12 2 l esh

(3) 14 l seh (4) 13 2 l esh

69. , d prqHkZqt  dk {ks=ki Qy 342 oxZ ehVj gSA bl ds nks foi jhr ' kh"kks±
l s fod.kZ i j yac 12 ehVj vkSj 12 ehVj gSaA fod.kZ dh yackbZ D;k gS\
(1) 31.3 ehVj (2) 25.3 ehVj
(3) 28.5 ehVj (4) 22.5 ehVj

70.
4 4 6

7 9
(3 ) 9
(27) 3




 dk eku Kkr dhft ,  \

(1) 3 (2)
1
9 (3) 27 (4) 1

71. 1.2 × 105 vkSj 2.4 × 10–2 ds xq.kui Qy dks ekud : i  esa
O; ÙkQ djsaA
(1) 288 × 102 (2) 0.288 × 105

(3) 2.88 × 103 (4) 28.8 × 104

72. , d et nwj dks 13 fnu ds dke ds fy,  806 : i ; s fn; s t krs gSaA
; fn ml s j  1798 #i ; k feyrk gS] rks ml us fdrus fnu dke fd; k\

(1) 29 (2) 35 (3) 60 (4) 40

73.  (p + q)2 – (a – b)2 + p + q – a + b dk , d xq.ku• aM gS%
(1) (p + q + a + b)

(2) (p + q – a + b)

(3) (p – q + a – b)

(4) (p – q + a + b)
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Direction (74-75) : A courier person cycles from a town
to a neighbouring sub-urban area to deliver a parcel
to a merchant. His distance from the town at different
times is shown by the following graph. Study it
carefully answer the following questions.

22
20
18
16
14
12
10
8
6
4
2
0 8 9 10 11 12 X

a.m. a.m. a.m. a.m. a.m.

d
is

ta
nc

e 
(in

 k
m

)

Time

74. How much time did the person take to reach the
place of merchant ?
(1) 3.5 hours (2) 2 hours
(3) 1.5 hours (4) 3 hours

75. During which period did he cycle fastest ?
(1) 9 a.m. – 10 a.m.
(2) 10 a.m. – 10:30 a.m.
(3) 8 a.m. – 9 a.m.
(4) 10:30 a.m. – 11:30 a.m.

76. Find the area of a rectangular plot, one side of
which measures 35 m and the diagonal is 37 m.
(1) 220 m2 (2) 320 m2 (3) 410 m2 (4) 420 m2

77. The area of a rhombus is 144 cm2 and one of its
diagonals is double the other. The length of the
longer diagonal is :
(1) 12 cm (2) 16 cm (3) 18 cm (4) 24 cm

78. In the given figure, PQRS, PAB = 60° and
ACS = 100°. Then , BAC = ?

P QA

60°

100°

SBR C

(1) 40° (2) 60° (3) 80° (4) 50°
79. Rohit has 6 wooden sticks of equal length. He

wants to join all of them in such a way that make
a regular polygon. At what internal angle he will
have to join wooden stick with each other ?
(1) 105° (2) 120° (3) 115° (4) 90°

funZs' k (74–75)% , d dwfj ; j  O; fÙkQ , d O; ki kjh dks i kl Zy i gqapkus ds
fy,  , d ' kgj  l s i M+ksl h mi –' kgjh {ks=k rd l kbfdy pykrk gSA vyx–
vyx l e;  i j  ' kgj  l s ml dh nwjh fuEufyf• r xzki Q }kjk n' kkZbZ xbZ gSA
bl dk è; kui woZd vè; ; u dj  fuEufyf• r ç' uksa ds mÙkj nhft , A

22
20
18
16
14
12
10
8
6
4
2
0 8 9 10 11 12

X
a.m. a.m. a.m. a.m. a.m.

74. ml  O; fÙkQ dks O; ki kjh ds LFkku rd i gqapus esa fdruk l e;  yxk\
(1) 3.5 ?kaVs (2) 2 ?kaVs
(3) 1.5 ?kaVs (4) 3 ?kaVs

75. ml us fdl  vof/  esa l cl s rst  l kbfdy pyk; k\
(1) çkr% 9 ct s – çkr% 10 ct s
(2) çkr% 10 ct s – çkr% 10%30 ct s
(3) çkr% 8 ct s – 9 ct s rd
(4) çkr% 10%30 ct s – i wokZÉ 11%30 ct s

76. , d vk; rkdkj  Hkw• aM dk {ks=ki Qy Kkr djsa] ft l dh , d Hkqt k dh
eki  35 ehVj vkSj fod.kZ 37 ehVj gSA
(1) 220 ehñ2 (2) 320 ehñ2 (3) 410 ehñ2(4) 420 ehñ2

77. , d l eprqHkZqt  dk {ks=ki Qy 144 l seh2 gS vkSj bl dk , d fod.kZ
nwl js l s nksxquk gSA yacs fod.kZ dh yackbZ gS%
(1) 12 l seh (2) 16 l seh (3) 18 l seh (4) 24 l seh

78. fn,  x,  fp=k esa] PQRS, PAB = 60° vkSj ACS = 100°.
rc BAC = ?

P QA

60°

100°

SBR C

(1) 40° (2) 60° (3) 80° (4) 50°
79. jksfgr ds i kl  l eku yackbZ dh 6 ydM+h dh NM+sa gSaA og mu l Hkh

dks bl  çdkj  t ksM+uk pkgrk gS fd , d fu; fer cgqHkqt  cu t k, A
ml s ydM+h dh NfM+; ksa dks fdl  vkarfjd dks.k i j  , d nwl js l s
t ksM+uk gksxk\
(1) 105° (2) 120° (3) 115° (4) 90°
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80. l R;  ds fy,  ‘T’  vkSj v l R;  ds fy,  ‘F’ crk, ¡A
(i) 0.9 dk oxZewy 0.3 gSA

(ii) n vadksa ds i w.kZ oxZ ds oxZewy esa 
n 1

2
 

 
 

vad gksaxs] ; fn

n fo"ke gSA
(iii) i kbFkkxksj l  f=kd dh l Hkh l a[ ; k, ¡ fo"ke gksrh gSaA
(iv) 1002 vkSj 1012 ds chp 200 çkÑfrd l a[ ; k, ¡ gSaA

(i) (ii) (iii) (iv) (i) (ii) (iii) (iv)

(1) T F T F (2) F T F T

(3) T T F F (4) F T T F

81. fodYi ksa esa l s og yqIr l a[ ; k Kkr dhft ,  t ks fn,  x,  i SVuZ esa ç' u
fpÉ (\ ) dk LFkku ys ysxhA

51 ?
3 5

36
39

4 7

45

3 5

45

(1) 47 (2) 45 (3) 37 (4) 35

82. fn,  x,  ç' u esa v{kjksa vkSj l a[ ; kvksa dh , d Jà• yk nh xbZ gS]
ft l ds i n] l ewgksa esa , d fuf' pr i SVuZ dk i kyu djrs gSaA gkyk¡fd]
Jà• yk esa dqN i n xk; c gSa] t ks Jà• yk ds uhps fodYi ksa esa l s , d
ds l eku Øe esa fn,  x,  gSaA l gh fodYi  dk p; u djsaA

2 3 B ___ 6 ___ F G ___ 5 D ___ 8 ___ H I

(1) W, 8, 7, I, 6 (2) D, 8, 6, C, 7

(3) E, 8, 7, D, 9 (4) C, 7, 4, E, 9

83. fuEufyf• r esa l s dkSu l k osu vkjs•  n̂w/ ] l sc vkSj i Qy* ds chp
l aca/  dk l cl s vPNk o.kZu djrk gS\

(1) (2)

(3) (4)

84. ; fn M  N, 14 × 15 gS] rks P Q ...... gSA
(1) 14 × 15 (2) 15 × 16 (3) 17 × 18 (4) 16 × 17

85. fHkUu dk i rk yxk, aA
(1) B (2) J (3) T (4) G

86. fn,  x,  i SVuZ esa yqIr v{kj  <wa<saA

M O P N
Q S T R
U W ? V

(1) X (2) S (3) T (4) Y

80. State ‘T’ for true and ‘F’ for false.

(i) The square root of 0.9 is 0.3.

(ii) The square root of a perfect square of n digits

will have 
n 1

2
 

 
 

 digits, if n is odd.

(iii) All numbers of a pythagorean triplet are odd.

(iv)There are 200 natural numbers between
1002 and 1012.

(i) (ii) (iii) (iv) (i) (ii) (iii) (iv)

(1) T F T F (2) F T F T

(3) T T F F (4) F T T F

81. Find the missing number from the options which
will replace the question mark (?) in the given
patterns.

51 ?
3 5

36
39

4 7

45

3 5

45

(1) 47 (2) 45 (3) 37 (4) 35

82. In the given question, a series of letters and
numbers is given, the terms of which follow a
certain pattern in groups. However, some terms
in the series are missing, which are given in
the same order as one of the alternatives below
the series. Choose the correct alternative.

2 3 B ___ 6 ___ F G ___ 5 D ___ 8 ___ H I

(1) W, 8, 7, I, 6 (2) D, 8, 6, C, 7

(3) E, 8, 7, D, 9 (4) C, 7, 4, E, 9

83. Which of the following Venn diagrams best
describes the relationship amongst, ‘Milk, Apple
and Fruit’ ?

(1) (2)

(3) (4)

84. If M  N is to 14 × 15, then P Q is to ...... .

(1) 14 × 15 (2) 15 × 16 (3) 17 × 18 (4) 16 × 17

85. Find the odd one out.

(1) B (2) J (3) T (4) G

86. Find the missing character in the given patterns.

M O P N
Q S T R
U W ? V

(1) X (2) S (3) T (4) Y



Class-VIII (Main)/017

87. In a code, CONTRIBUTE is written as
ETUBIRTNOC. If POPULARISE is written in that
code, then which letter will be in the 6th place
when counted from the left end ?
(1) P (2) L (3) R (4) I

88. Arrange the given words in a meaningful
sequence and then choose the most appropriate
order from the given four alternatives.
I. Cow II. Ghee III.Butter
IV. Churn V. Milk
(1) V, IV, III, II, I (2) III, IV, II, I, V
(3) II, III, IV, V, I (4) I, V, IV, III, II

89. Select a figure from the options in which the
given Fig. (X) is exactly embedded as one of its
part.

Fig. (X)

(1) (2)

(3) (4)

90. Introducing Rajesh, Neha said, “His brother’s
father is the only son of my grandfather”. How is
Neha related to Rajesh ?
(1) Daughter (2) Niece (3) Mother (4) Sister

91. A, B, C, D and E when arranged in descending
order of their weights from the top, A becomes
third, E is between D and A while C and D are
not at the top. Who among them is the second
heaviest ?
(1) A (2) B (3) C (4) D

92. Choose the correct order of signs from the four
options given below, so that the equations
become correct.

66 ____ 27 ____ 13 ____ 3
(1) = – × (2) × = –
(3) – = × (4) – × =

93. Count the number of circles in the following
figure.

(1) 8 (2) 9 (3) 10 (4) 11

87. , d dksM esa CONTRIBUTE dks ETUBIRTNOC fy• k
t krk gSA ; fn ml  dksM esa POPULARISE fy• k gks rks ck, a Nksj
l s fxuus i j  dkSu l k v{kj  NBs LFkku i j  gksxk\
(1) P (2) L (3) R (4) I

88. fn,  x,  ' kCnksa dks l kFkZd Øe esa O; ofLFkr djsa vkSj fi Qj  fn,  x,
pkj  fodYi ksa esa l s l cl s mi ; qÙkQ Øe pqusaA
I. xk; II. ?kh III.  eD• u
IV. eFkuk V. nw/
(1) V, IV, III, II, I (2) III, IV, II, I, V

(3) II, III, IV, V, I (4) I, V, IV, III, II

89. fodYi ksa esa l s , d vkÑfr dk p; u djsa ft l esa nh xbZ vkÑfr (X)
fcYdqy ml ds , d Hkkx ds : i  esa varfuZfgr gSA

(1) (2)

(3) (4)

90. jkt s' k dk i fjp;  nsrs gq, ] usgk us dgk] m̂l ds HkkbZ ds fi rk esjs
nknkt h ds bdykSrs i q=k gSa*A usgk] jkt s' k l s fdl  çdkj  l acaf/ r gS\
(1) csVh (2) Hkrht h (3) ek¡ (4) cgu

91. A, B, C, D vkSj E dks t c ' kh"kZ l s muds ot u ds vojksgh Øe
esa O; ofLFkr fd; k t krk gS] rks A rhl jk gks t krk gS] E, D vkSj A
ds chp gS t cfd C vkSj D ' kh"kZ i j  ugha gSaA muesa l s nwl jk l cl s
Hkkjh dkSu gS\
(1) A (2) B (3) C (4) D

92. uhps fn,  x,  pkj  fodYi ksa esa l s fpUgksa dk l gh Øe pqusa] rkfd
l ehdj.k l gh gk t k, aA

66 ____ 27 ____ 13 ____ 3
(1) = – × (2) × = –

(3) – = × (4) – × =

93. fuEufyf• r vkÑfr esa oÙ̀kksa dh l a[ ; k fxusaA

(1) 8 (2) 9 (3) 10 (4) 11
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94. In this question a figure X is given. Choose a
figure from the four options such that this figure
and the figure X can form a complete square after
fitting into each other.

X

(1) (2)

(3) (4)

95. How many 5’s are there in the following
sequence such that the sum of the two
immediately following digits is greater than the
sum of the two immediately preceding digits ?
3 7 6 5 8 3 2 4 5 5 4 8 7 9 1 5 3 4 8 7 5 9 8 7 6 4
(1) One (2) Two (3) Three (4) Four

96. Identify the water image of the given Fig. (X).

Fig. (X)

(1) (2) (3) (4)

97. Choose one figure from the options that can
replace the question mark (?) to form a series.

?

(1) (2)

(3) (4)

98. If ' '  denotes ‘square’, ‘×’ denotes ‘+’, ‘–’ denotes

‘×’ and ‘+’ denotes ‘’, then 20 25 5 3 ?   

(1) 63 (2) 10 (3) 31 (4) 1015

99. All the figures or shapes except one are similar
in some way. Choose the odd one out.

(1) (2) (3) (4)

94. bl  ç' u esa , d vkdf̀r X fn; k x; k gSA pkj  fodYi ksa esa l s , d
vkÑfr bl  çdkj  pqusa fd ; g vkÑfr vkSj vkÑfr X , d nwl js
esa fi QV gksus ds ckn , d i w.kZ oxZ cuk l dsaA

X

(1) (2)

(3) (4)

95. fuEufyf• r vuqØe esa , sl s fdrus 5 gSa ft l ds nks Bhd vxys vadksa
dk ; ksx Bhd fi Nys nks vadksa ds ; ksx l s vf/ d gS\

3 7 6 5 8 3 2 4 5 5 4 8 7 9 1 5 3 4 8 7 5 9 8 7 6 4

(1) , d (2) nks (3) rhu (4) pkj

96. fn,  x,  fp=k (X) dh t y Nfo dks i gpkusaA

(1) (2) (3) (4)

97. fodYi ksa esa l s , d vkÑfr pqusa t ks Jà• yk cukus ds fy,  ç' u fpÉ
(\ ) dks çfrLFkkfi r dj  l dsA

?

(1) (2)

(3) (4)

98. ; fn ' '  ôxZ* dks  n' kkZrk gS] ‘×’ ‘+’, dks  n' kkZrk gS] ‘+’,
‘–’  d ks n' kkZr k gS ‘×’  v kSj  ‘+ ’ ‘ ’ n' kkZrk gS r ks

20 25 5 3 ?   

(1) 63 (2) 10 (3) 31 (4) 1015
99. , d dks NksM+dj l Hkh vkÑfr; k¡ fdl h u fdl h rjg l s l eku gSaA

fo"ke pqusaA

(1) (2) (3) (4)
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100. Select a figure from the options which completes
the figure marix.

?

(1) (2) (3) (4)

100. fodYi ksa esa l s , d vkÑfr dk p; u djsa t ks vkÑfr eSfjDl  dks i wjk
djrh gSA

?

(1) (2) (3) (4)
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1.
2.
3.
4.
5.
6.
7.
8.
9.
10.
11.
12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22.
23.
24.
25.

(2)

(1)

(3)

(4)

(1)

(2)

(3)

(4)

(2)

(4)

(1)

(3)

(2)

(1)

(4)

(3)

(2)

(2)

(2)

(4)

(1)

(3)

(4)

(1)

(1)

26.
27.
28.
29.
30.
31.
32.
33.
34.
35.
36.
37.
38.
39.
40.
41.
42.
43.
44.
45.
46.
47.
48.
49.
50.

51.
52.
53.
54.
55.
56.
57.
58.
59.
60.
61.
62.
63.
64.
65.
66.
67.
68.
69.
70.
71.
72.
73.
74.
75.

GTSE - Main Exam (24.12.2023)

ANSWER KEY
CLASS - 8

76.
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79.
80.
81.
82.
83.
84.
85.
86.
87.
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89.
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91.
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94.
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